| Efficiency vs Dxy |

0.05¢ 5
0,045+ S A T o
0.04F - veesfevsrnnone TR RS S
IOk SR S .
Ok | RS S S e
L] e o -----------------------------------
O s S e e o
(V5T S SRS R ) S N
INH S S [ ————
0005—,# ----------------------------------
| SR FOVUR PUVUY UL ORN FOPVR FOVEA POVIY OO oY

| T |
0 O O | O WO 0

0.8

D5 20-15-10 =5 0 5 10 15 20 25

—=— DQM_TT__mkFit_BDT_

| Efficiency vs Dz |

—e— DQM_TT__mkFit_

0.05

0.045 oo 18 SRR S S
A W W
O ‘ B T
U S 5 I ST S N
0,025 +icfofos
0,02+t /S
O | |
O 1 :
0,005} vrvvsesi
sof e bl | E
N 11 0
L T
30 20 -100 0 10 20 30




	Contents
	Page 1


